SUBTRACTION OF
2-DIGIT NUMBERS

Ankur has 34 marbles. He gives 11 marbles to his friend. How many marbles are
left with Ankur? :

We shall do subtraction here.

T O

3 4 <—— Ankur's marbles

— 1 1<——He gave to his friend = tgfe sign

subtraction.

2 3 <—— marbles Ankur is left with.

- So, Ankur is left with 23 marbles.
When we subtract, we simply ‘take away’ or ‘minus’.

@o you remember . . ... )

Subtract : . ]
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Activity-2

Fill in the blanks:

4 = 0 =i 2. lyg |- 1 = 45
3. 43 -1 {= 4 499—ox=99
5. 38 - 38 =10 6. 74 - 73 =11
P
7. 77 -t0 { = 77 g 8 -84 = 1
Activity-3
Word Problems
Out of 46 students in a class, 22 are T O
boys. How many girls are there in the 4 6
class?
Ans. There are .....: ) — girls in - 2 2
the class. 2 4
34 birds are sitting on a tree. 20 flew [ T 0
) away. How many birds are still sitting
on the tree? | 3 4
Y ER— 1, BE—— pirds are st} [ o2
[ 4

sitting on the tree.
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Word Problems B

In a cricket match, Ajay scored 67
runs and Tarun scored 83 runs. Who
scored more runs and how many

more runs?

Ans. ....-J._m.kn;.....scored
re—— 16, runs more.

45 birds were flying in the sky. If 18 of
them sat on the tree, how-many birds

N are still flying in the sky?
y ANS. s 2L birds are
A still flying.

Ankur has 60 pencils. Sneha has 48
pencils. Who has more pencils and
how many more?

Ans. . ANKWC. has LA

A fruit seller has 52 watermelons. He
sells 27 out of them in a day. How
many watermelons are still left?

..................... watermelons
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To Check Subtraction using Addition

Example 1: Subtract 15 from 77 and check your answer.
Solution:
T O _
d 7 Now, 77 —15 = 62
— 1 5 This fact can be checked
6 2 by the addition.
6 2
+ 1 5
7 7
We get 77 as our answer. So, the subtraction is correct. .;;'
Example2: ~ Subtract28from 53 and check your answer
Solution: -

@ @ @ e e [T e et T -
5 3
2 8 +
5

2 5
- ><2 8
2 5 3

We get 53 as our answer, so, the subtraction is correct.

Activity-6

Do it yourself and check :

B Tt o T o | B 1 oo T o
® @ OO ®@® ~OO
N B £ 6 7 4 5
~2 5 X442 5 -1 9 X +1 9
6 77 Q9 2 DS 4y 5
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MATHEMATICS In Everyday Life-2 o \N\’/w_——m

Scanned with CamScanner



